® x+220

@ 4>3

D 143=14

® x-3=3
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® b5x+1=0 @ x+10=x-1
® 2(x+3)=2x+6 @ 3(x+3)=3(x+1)

® 3(x+1)=5x
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@ 5x-1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —-(x-2)=x-2

® 1-(x+1)=-2x+2
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D x+3=2x-2 @ x+3=2x+2

® x+2=2x-3 @ 2x-3=x+1

B 2x+1=x-3
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@ 2700 — x = 4000 — x

O 2700 — x = 2 x 2000

@ 2700 — x = 2(2000 - x)

® 2700 — x = 2000 — x

3 2700 — 2x = 2000 — 2x
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@ 4x-12=5x+3 @ 4x+12=5x-3

® —4x-12=-5x-3 @ —4x+12=-5x-3

B —4x+12=5x-3
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X X 260 X X
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@ 0.05 x 600 + x = 0.04(600 + x)
@ 0.05 x 600 = 0.04(600 + x)

® 0.05 x (600 + x) = 0.04(600 + x)
@ 0.04 x 600 = 0.05(600 + x)

B 600+ x=4
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@ (3000 + a) x (1 + i) = 4000

10

@ (3000 — 30a) x (1 - ﬁ) — 4000

©) (3000 n %) x (1 n %) — 4000
b

@ (3000 + 40a) x <1 + ﬁ) = 4000

® (3000 + 40a) x (100 + b) = 4000



12, o2 A& WEshs A & y 7F ok o W, x +y o] g2

0.8 (4 - 2x) = — (1.6 + 0.8x)
0.09y — 0.2 = 0.05(y—3) - 0.3
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D -1 @ -2 3 -3 @ —4 3 -5
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@ 40km @ 50km ® 60km
@ 70km 3 80km



